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001/ 4 A R 1,744 ] 2117 | 2,223 | 4,340 3 3 5 8
oM & — | 379 436 456 892 | | 4a4 4 2 7 9
o128 & & 190 262 283 545 ’ -2 -1 -4 -5
021K zf 382 454 414 868 1 -2 -3 -5
031/ W 126 150 153 303 0 0 0 0
032\ f — | 842 | 1,116 | 1,127 | 2,243 4947 0 0 1 1
o33|# gl 1,020 | 1,329 | 1,375 | 2,704 | 3 6 1 7
034/l n Wl 379 501 507 | 1008 | . ., 2 5 1 6
1533 T B (BT 297 357 386 743 | -2 1 -5 -4
041Kk mrf 125 139 145 284 599 -1 -2 3 1
152/ k2T H(KRHE)| 104 117 121 238 -1 -1 0 -1
042 fif 135 156 164 320 0 0 0 0
051|fif BT 427 474 499 973 | | 477 -2 -3 -1 -4
1504 s 1 T B (fPED)| 221 247 257 504 | -3 -3 -2 -5
053| 3 mrl 236 272 286 558 635 -2 -2 0 -2
151\ 1 T H (FHET) 29 40 37 77 0 -1 0 -1
054k FH 95 118 122 240 0 0 -1 -1
o61|% H — | 110 150 148 298 | . 009 2 1 1 2
o62/% H — @ 323 358 366 724 | 1 -2 2 0
071|7f Al 105 117 110 227 1 1 0 1
072| i H| 119 109 111 220 0 0 0 0
073|A = 73 90 75 165 0 0 0 0
081|L622LA1T H| 266 359 365 724 -1 0 -1 -1
og82|Lo/rLE2T Al 284 364 345 709 -1 -1 0 -1
083/L522LA3T H| 255 346 331 677 3491 1 0 0 0
084Lo/rLH4T H| 263 329 334 663 | 2 1 3 4
085/L522LAST Al 295 370 348 718 1 1 2 3
086|L L/ LE6T H 0 0 0 0 0 0 0 0
10146 B 1 T A| 354 436 437 873 0 1 0 1
1024k 2 T H|| 363 438 456 894 | 2,659 0 0 -3 -3
103|4k 3 T Hf| 329 447 445 892 0 -2 -2 -4
112/% (b 2 T H 331 402 401 803 1 0 1 1
118|% 1 3 T H 443 545 569 | 1,114 | 2,936 0 -4 -1 -5
114|%F [0 4 T H| 402 486 533 | 1,019 1 -2 0 -2
121F EH 17T H 238 285 317 602 -1 0 -1 -1
1225 EH 27T H 343 420 448 868 | 2,383 0 -2 1 -1
1235 £ H 371 H 347 455 458 913 0 -1 0
1IB1IER A1 T H 290 425 438 863 4 3 1 4
132|% & & 2 T B 257 367 393 760 3657 0 -1 1 0
133 A A 31 H 320 447 493 940 | 0 1 -1 0
134 R 5471 H 407 520 574 | 1,094 -2 -3 -2 -5
14158 D | 194 284 276 560 -2 -1 -1 -2
1713 b 1 T A| 395 599 645 | 1,244 1838 0 2 0 2
172/% |1 2 T H 182 314 280 594 | 1 0 -3 -3
B 14,019 [ 17,747 | 18,251 | 35,998 8 -4 -2 -6




